Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) A small fruit smoothie is 11 ounces while a large fruit smoothie is 13,86 ounces. The large

fruit smoothie is % larger. L.
2.
2) 1InFebruary {GVAR} got a puppy that weighed 13 kilograms. By October the puppy
weighed 18,46 kilograms. What was the percent the puppy's weight increased? 3.
4.
3) Itused to take {GVAR} 10 minutes to do 20 multiplication problems. Now she can do the
same page in 13,4 minutes. She is now percent faster. 5.
6.
4) Bonbuias ra3upoBKa - 370 286 Kanopuii, a MajieHbKas - 240,24 xanopuii. B HeGobIoi
ra3upoBKe Ha MPOIICHTOB MEHBIIIEe KaJOPHH. 7.
8.
5) A pole was supposed to be 16 meters long, but it was accidentally made 20,48 meters long.
The pole is percent longer than it needs to be. 9.
10.

6) The price for internet on a phone was §7 a month, but starting in November the price will
be §10,36 a month. This is a % increase.

7) B mpouwioM rojy JMIEH3Ms Ha PIOHYO JIOBIIO cTomia 53. B aToM rojy nuiensus Oyger
cTouTth 33,92 nomiapoB. ITO yMEHBIICHUE Ha MIPOIICHTOB.

8) Maraszun 06b1YHO Habupan B cpenHeM 165 mokynateneit B 1eHb. Ho 1Mo BBIXOJHBIM OHH B
cpeaneM HaOupanu 128,7 kineHToB B ieHb. Ha CKOJIBKO MPOIIEHTOB YMEHBIIMIOCH
KOJWYECTBO KIMEHTOB?

9) A library normally collected §49 in fees a month. But in March they collected §73,5. What
is the percent increase in the number of fees collected in March?

10) Hrpa o6bruno crout 50, Ho {GVAR} Kcnons30Ba KYHoH U Moay4ui urpy 3a 29. Kymon
OBLT HA MPOLEHTOB.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) A small fruit smoothie is 11 ounces while a large fruit smoothie is 13,86 ounces. The large
fruit smoothie is % larger. L. 26
2. 42
2) 1InFebruary {GVAR} got a puppy that weighed 13 kilograms. By October the puppy
weighed 18,46 kilograms. What was the percent the puppy's weight increased? 3. 34
4. 16
3) Itused to take {GVAR} 10 minutes to do 20 multiplication problems. Now she can do the
same page in 13,4 minutes. She is now percent faster. 5. 28
6. 48
4) Bonbuias ra3upoBKa - 370 286 Kanopuii, a MajieHbKas - 240,24 xanopuii. B HeGobIoi
ra3upoBKe Ha IIPOLICHTOB MEHBIIIE KaJIOpUH. 7. 36
8. 22
5) A pole was supposed to be 16 meters long, but it was accidentally made 20,48 meters long.
The pole is percent longer than it needs to be. 9. S0
10, 42

6) The price for internet on a phone was §7 a month, but starting in November the price will
be §10,36 a month. This is a % increase.

7) B mpouwioM rojy JMIEH3Ms Ha PIOHYO JIOBIIO cTomia 53. B aToM rojy nuiensus Oyger
cTouTth 33,92 nomiapoB. ITO yMEHBIICHUE Ha MIPOIICHTOB.

8) Maraszun 06b1YHO Habupan B cpenHeM 165 mokynateneit B 1eHb. Ho 1Mo BBIXOJHBIM OHH B
cpeaneM HaOupanu 128,7 kineHToB B ieHb. Ha CKOJIBKO MPOIIEHTOB YMEHBIIMIOCH
KOJWYECTBO KIMEHTOB?

9) A library normally collected §49 in fees a month. But in March they collected §73,5. What
is the percent increase in the number of fees collected in March?

10) Hrpa o6bruno crout 50, Ho {GVAR} Kcnons30Ba KYHoH U Moay4ui urpy 3a 29. Kymon
ObBLI HA MPOLEHTOB.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

28 36 42 42 34
48 22 26 16 50 L.

1) A small fruit smoothie is 11 ounces while a large fruit smoothie is 13,86 ounces. The large

2.
fruit smoothie is % larger.
3.
2) In February {GVAR} got a puppy that weighed 13 kilograms. By October the puppy
weighed 18,46 kilograms. What was the percent the puppy's weight increased? 4.
5.
3) Itused to take {GVAR} 10 minutes to do 20 multiplication problems. Now she can do the
same page in 13,4 minutes. She is now percent faster. 6.
7.
4) Bospluas rasupoBKa - 310 286 KajuopHii, a MajeHbkas - 240,24 kanopuii. B HeGOIbIION
ra3upOBKE Ha MIPOIICHTOB MEHBIIIE KaJOPH. g
9.
5) A pole was supposed to be 16 meters long, but it was accidentally made 20,48 meters long.
The pole is percent longer than it needs to be. 0

6) The price for internet on a phone was §7 a month, but starting in November the price will
be §10,36 a month. This is a % increase.

7) B mpouwioM rojy JUIEH3Ms Ha PIOHYIO JOBIIO cToMIa 53. B 9T0M rojy nuiensus 6yger
cTouTh 33,92 nomnapoB. ITO yMEHbIIECHUE HA MPOLIEHTOB.

8) Marasun 06b1uHO HaGKpaI B cpeaHeM 165 nokynareseil B 1eHb. Ho 10 BHIXOIHBIM OHU B
cpennem Habupanu 128,7 K1HEeHTOB B AeHb. Ha CKOJIIBKO MPOIEHTOB YMEHBIIHIOCH
KOJINYECTBO KJIMEHTOB?

9) A library normally collected §49 in fees a month. But in March they collected §73,5. What
is the percent increase in the number of fees collected in March?

10) Wrpa o6sruno crout 50, Ho {GVAR} ucnonb30Ba KynoH U Ioayurt urpy 3a 29. Kynon
ObUT HA IIPOLIEHTOB.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) In February {GVAR} got a puppy that weighed 14 kilograms. By October the puppy

weighed 18,76 kilograms. What was the percent the puppy's weight increased? L.
2.
2) Normally a game costs §36. But the new special edition version is going to be §48,24. This
is an increase of percent. 3.
4.
3) A library normally collected §41 in fees a month. But in March they collected §46,74.
What is the percent increase in the number of fees collected in March? 5.
6.
4) A pole was supposed to be 14 meters long, but it was accidentally made 15,96 meters long.
The pole is percent longer than it needs to be. 7.
8.
5) Becnoii cpennuii Gamn mo nucTy AeneHns obu1 73. Ho ele oceHpro cpeanuii 6asmn Obu
HOMB. Onenka 3a oceHb Obl1a Ha % HMXKE, YEM 3a BECHY. 9.
10.

6) Bonbmas rasuposka - 510 290 Kanopwuii, a MajneHbKas - 237,8 kanopuii. B HeGobII0M
rasMpoBKE Ha IPOLIEHTOB MEHBILE KAJOPHIA.

7) B ¢espane {BVAR} norpartun 48 uacos na npocmotp Netflix. B mapre on nposen 3a
pocMoTpoM Bcero 39,36 yacoB. Ha ckoJIbKO IPOLIEHTOB YMEHBIINUIOCH KOJIHUYECTBO
BPEMEHH, KOTOPOE OH MPOBOANI 33 IPOCMOTPOM?

8) Marasun 06b1uHO HabMpai B cpeaHeM 143 nokynaresei B 1eHb. Ho 110 BHIXOIHBIM OHHU B
cpeaneM HaOupanu 97,24 KIMeHTOB B ieHb. Ha CKOJIBKO MPOIEHTOB YMEHBIIMIOCH
KOJWYECTBO KIMEHTOB?

9) B mpomwioM rojy JUIEH3Ms Ha PIOHYIO OB cTomia 51. B aToM rojy nuiensus Oyger
CTOUTH 45,9 nomiapoB. ITO yMEHbILICHUE Ha MIPOIIEHTOB.

10) B nponwiom mecsiie {BVAR} notpartuin Ha urpbl 92 pouiapos. B atom Mecsiie on
notpatui Beero § 62,56. B aTom Mecsiie OH NOTpaTuiI Ha MPOIEHTOB MEHBIIIE.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) In February {GVAR} got a puppy that weighed 14 kilograms. By October the puppy
weighed 18,76 kilograms. What was the percent the puppy's weight increased? L. 34
2. 34
2) Normally a game costs §36. But the new special edition version is going to be §48,24. This
is an increase of percent. 3. 14
4. 14
3) A library normally collected §41 in fees a month. But in March they collected §46,74.
What is the percent increase in the number of fees collected in March? 5. 10
6. 18
4) A pole was supposed to be 14 meters long, but it was accidentally made 15,96 meters long.
The pole is percent longer than it needs to be. 7. 18
8. 32
5) Becnoii cpennuii Gamn mo nucTy AeneHns obu1 73. Ho ele oceHpro cpeanuii 6asmn Obu
HOMB. Or1ienka 3a oceHb OblIa Ha % HUXKeE, 4eM 3a BECHY. 9. 10
10, 32

6) Bonbmas rasuposka - 510 290 Kanopwuii, a MajneHbKas - 237,8 kanopuii. B HeGobII0M
rasMpoBKE Ha IPOLIEHTOB MEHBILE KAJOPHIA.

7) B ¢espane {BVAR} norpartun 48 uacos na npocmotp Netflix. B mapre on nposen 3a
npocMoTpom Bcero 39,36 yaco. Ha CKOIbKO MPOLIEHTOB YMEHBIIUIOCH KOJIMYECTBO
BPEMEHH, KOTOPOE OH MPOBOIHII 32 IIPOCMOTPOM?

8) Marasun 06b1uHO HabMpai B cpeaHeM 143 nokynaresei B 1eHb. Ho 110 BHIXOIHBIM OHHU B
cpeaneM HaOupanu 97,24 KIMeHTOB B ieHb. Ha CKOJIBKO MPOIEHTOB YMEHBIIMIOCH
KOJWYECTBO KIMEHTOB?

9) B mpomwioM rojy JUIEH3Ms Ha PIOHYIO OB cTomia 51. B aToM rojy nuiensus Oyger
CTOUTH 45,9 nomiapoB. ITO yMEHbILICHUE Ha MIPOIIEHTOB.

10) B nponwiom mecsiie {BVAR} notpartuin Ha urpbl 92 pouiapos. B atom Mecsiie on
notpatui Beero § 62,56. B aTom Mecsiie OH NOTpaTuiI Ha MPOIEHTOB MEHBIIIE.
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ﬂh N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

34 10 10 14 18
14 32 34 32 18 1.

1) In February {GVAR} got a puppy that weighed 14 kilograms. By October the puppy

2.
weighed 18,76 kilograms. What was the percent the puppy's weight increased?
3.
2) Normally a game costs §36. But the new special edition version is going to be §48,24. This
is an increase of percent. 4.
5.
3) A library normally collected §41 in fees a month. But in March they collected §46,74.
What is the percent increase in the number of fees collected in March? 6.
7.
4) A pole was supposed to be 14 meters long, but it was accidentally made 15,96 meters long.
The pole is percent longer than it needs to be. 3.
9.
5) BecHoii cpeguuii 6asn o nucty aenenus 6ui1 73. Ho emme ocenpo cpeaauii 6amn Obut
HOMB. Or1ienka 3a ocedb Oblia Ha % HIKeE, 4eM 3a BECHY. 10

6) Bonbias rasuposka - 510 290 Kanopwuii, a ManeHbKas - 237,8 kanopuii. B HeG0bII0M
ra3upoBKe Ha MIPOLIEHTOB MEHBIIIE KATOPHIA.

7) B despane {BVAR} norparun 48 uacos Ha npocmotp Netflix. B mapre on nposen 3a
npocMOTpoM Beero 39,36 yacoB. Ha CKOJTBKO MPOIEHTOB YMEHBIIUIOCH KOJTHYECTBO
BPEMEHH, KOTOPOE OH TPOBOIHII 33 IIPOCMOTPOM?

8) Marasun 06b1uHO HabMpai B cpeaHeM 143 nokynareseil B 1eHb. Ho 10 BHIXOIHBIM OHU B
cpenHem Habupanu 97,24 KIHEHTOB B AeHb. Ha CKOJIIBKO MPOIIEHTOB YMEHBIIHIOCH
KOJINYECTBO KJIMEHTOB?

9) B npouuioM rojy JMIEH3Ms Ha PHIOHYO JOBIIIO cToMia 51. B aToM roay suiiensus oyaer
cTouts 45,9 nomiapos. OT0 yMEHbUIECHHE HA IIPOLICHTOB.

10) B mpomwiom mecsiiie {BVAR} notpatun Ha urpbl 92 pomiapos. B atom mecsiie on
noTpatuil Bcero § 62,56. B aToM Mecsiie oH moTpaTui Ha MIPOLIEHTOB MEHBLIE.

O0J1eryeHHbI BApUAHT 1-10 [90[80]70[60[50[40[30[20]10] 0 |
E\/IaTeMaTHKa www.CommonCoreSheets.ru 2




Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) B nmpouwtoroaueii Mozenu TenedoHa Obu1a Garapesi, KOTOpoi xBaTano Ha 15 yacos. B
3TOM rojty 3apsiaa 6arapeu xBatuT Beero Ha 11,4 gacoB. Ha kakoif mporeHT ymeHpmmiocs || 1.
BpeMsi aBTOHOMHOI paboThI?

2.

2) Bounbluas ra3upoBka - 310 209 kanopuii, a Manenbkas - 158,84 kanopuii. B ne6obIoi
ra3upoBKe Ha MPOLIEHTOB MEHBIIE KATOPHIA. 3.
4.

3) Cembs {GVAR} pemmia oTKa3arhcs OT KaOEILHOrO TeleBHAEHHs. [lepBOHAYaILHO OHU
miatwm 80 3a TeneBuaeHue, IHTepHeT 1 TenedoH, HO TENEph OHU IIATAT 65,6 momapos. || S
Ha xakoif npoueHT yMeHbIIUIICS cUeT?

6.

4) A small fruit smoothie is 24 ounces while a large fruit smoothie is 33,6 ounces. The large
fruit smoothie is % larger. 7.
8.

5) Marasun 06b1uHO HaGUpai B cpeaHeM 164 mokynaresneil B 1eHb. Ho 10 BHIXOIHBIM OHHU B
cpenHeM HaOupanu 85,28 KIHEHTOB B AeHb. Ha CKOJIBKO MPOIEHTOB YMEHBIIUIOCH 9.
KOJIMYECTBO KJIIMEHTOB?

10.
6) {GVAR} xymun kommsrotep 3a § 205,26. {BVAR} kynun oqun 3a 311. KoMmnsrorep
{GVAR} Obu1 Ha MIPOIICHTOB JICIIEBIIE.
7) A store sold 14 dollars worth of gift cards in October. The next month the goal was to sell
§19,32 worth of gift cards. This is an increase of percent.
8) {BVAR} used to have §432 in the bank but after a year the amount increased to §613,44.
This was an increase of %.
9) B despane {BVAR} norparun 40 uacos Ha npocmotp Netflix. B mapre on nposen 3a
MPOCMOTPOM Bcero 28 yacoB. Ha CKOJIBKO MPOIIEHTOB YMEHBIIHIOCH KOJTHYECTBO
BPEMEHH, KOTOPOE OH TPOBOIHII 32 IIPOCMOTPOM?
10) The price for internet on a phone was §9 a month, but starting in November the price will
be §12,24 a month. This is a % increase.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemure kaxayr 3axauy. OTBeTHI

1) B nmpouwtoroaueii Mozenu TenedoHa Obu1a Garapesi, KOTOpoi xBaTano Ha 15 yacos. B
3TOM rojty 3apsiaa 6arapeu xBatuT Beero Ha 11,4 gacoB. Ha kakoif mporeHT ymeHpmmiocs || 1. 24
BpeMsi aBTOHOMHOI paboThI?

2. 24

2) Bounbluas ra3upoBka - 310 209 kanopuii, a Manenbkas - 158,84 kanopuii. B ne6obIoi
ra3upoBKe Ha MPOLIEHTOB MEHBIIE KATOPHIA. 3. 18
4. 40

3) Cembs {GVAR} pemmia 0TKa3aTbCs OT KaOEIbHOTO TeaeBuaeHus. [lepponadanbHo OHM
miatwm 80 3a TeneBuaeHue, IHTepHeT 1 TenedoH, HO TENEph OHU IIATAT 65,6 momapos. || S 48
Ha xakoif npoueHT yMeHbIIUIICS cUeT?

6. 34

4) A small fruit smoothie is 24 ounces while a large fruit smoothie is 33,6 ounces. The large
fruit smoothie is % larger. 7. 38
8. 42

5) Marasun 06b1uHO HaGUpai B cpeaHeM 164 mokynaresneil B 1eHb. Ho 10 BHIXOIHBIM OHHU B
cpenHeM HaOupanu 85,28 KIHEHTOB B AeHb. Ha CKOJIBKO MPOIEHTOB YMEHBIIUIOCH 9. 30
KOJIMYECTBO KJIIMEHTOB?

10, 36
6) {GVAR} xymun kommsrotep 3a § 205,26. {BVAR} kynun oqun 3a 311. KoMmnsrorep
{GVAR} Obu1 Ha MIPOIICHTOB JICIIEBIIE.
7) A store sold 14 dollars worth of gift cards in October. The next month the goal was to sell
§19,32 worth of gift cards. This is an increase of percent.
8) {BVAR} used to have §432 in the bank but after a year the amount increased to §613,44.
This was an increase of %.
9) B despane {BVAR} norparun 40 uacos Ha npocmotp Netflix. B mapre on nposen 3a
MPOCMOTPOM Bcero 28 yacoB. Ha CKOJIBKO MPOIIEHTOB YMEHBIIHIOCH KOJTHYECTBO
BPEMEHH, KOTOPOE OH TPOBOIHII 32 IIPOCMOTPOM?
10) The price for internet on a phone was §9 a month, but starting in November the price will
be §12,24 a month. This is a % increase.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

40 24 24 36 38
42 48 30 18 34 1.

1) B npomwtoroaneii Mmoaenu tenedona Obu1a Garapesi, KOTOpo xBaTano Ha 15 yacos. B

2.
3TOM TOJTy 3apsiaa OaTapeu XxBaTHUT Bcero Ha 11,4 yacoB. Ha kakoit mpoIeHT yMEHBIUIOCH
BpeMsi aBTOHOMHOI paboThI?

3.

2) Bonbmias rasupoBka - 310 209 Kanopwuii, a ManeHbKas - 158,84 xanopuii. B HeGomnbmoii
ra3upoBKe Ha IPOLIEHTOB MEHBIIE KATOPHA. 4.
5.

3) Cembs {GVAR} pemmia oTKa3arhcs OT KaOEILHOrO TeleBHAEHNs. [lepBOHAYaILHO OHU
matwm 80 3a TeneBuaeHue, IHTepHeT 1 TenedoH, HO TENEPh OHU IIATAT 65,6 momapos. || 6.
Ha xakoii npoueHT yMeHbIIUICS cUeT?

7.

4) A small fruit smoothie is 24 ounces while a large fruit smoothie is 33,6 ounces. The large
fruit smoothie is % larger. g
9.

5) Marasun 06s1YHO HaOMpan B cpeaneM 164 nmokymnarenei B 1eHb. Ho 10 BBIXOIHEIM OHH B
cpenneM Habupanu 85,28 KIMEHTOB B JieHb. Ha CKOIBKO TPOIIEHTOB YMEHBIITUIIOCH 0

KOJIMYECTBO KJIUEHTOB?

6) {GVAR} xynun kommsrotep 3a § 205,26. {BVAR} kynun oqun 3a 311. Komnsrorep
{GVAR} Obu1 Ha MIPOIICHTOB JICIICBIIE.

7) A store sold 14 dollars worth of gift cards in October. The next month the goal was to sell
§19,32 worth of gift cards. This is an increase of percent.

8) {BVAR} used to have §432 in the bank but after a year the amount increased to §613,44.
This was an increase of %.

9) B ¢espane {BVAR} norparun 40 yacos Ha npocmotp Netflix. B mapre on mposen 3a
IPOCMOTPOM Bcero 28 yacoB. Ha CKOJIBKO MPOLIEHTOB YMEHBIINUIOCH KOJTMYECTBO
BpPEMEHH, KOTOPOE OH MPOBOIMII 32 IIPOCMOTPOM?

10) The price for internet on a phone was §9 a month, but starting in November the price will
be §12,24 a month. This is a % increase.
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Ch\ N3yyeHne npoLeHTHOrO YBEJIMYCHUS U YMEHbIICHUT  Mwmst:

Pemure kaxayr 3axauy. OTBeTHI
1) BecHoli cpennuii 6am 1o aucTy aenenus 0bu1 55. Ho ele oceHbro cpeaanii 6amt Ob
HOMB. Orienka 3a oceHb OblIa Ha % HUXKeE, 4EM 3a BECHY. 1.
2.
2) Tt used to take {GVAR} 8 minutes to do 20 multiplication problems. Now she can do the
same page in 10,88 minutes. She is now percent faster. 3.
4.
3) Urpa o6b1uno crout 57, Ho {GVAR} Mcnons30Bai KyImoH M IOIY4HI Urpy 3a 35,34,
Kynou 6b11 Ha IIPOLIEHTOB. 5.
6.
4) Cembs {GVAR} pemmia 0TKa3aThCs 0T KaOEIbHOrO TeaeBuaenus. [leppoHadanbHo OHK
wiatwin 141 3a reneBunenue, atepHet u tenedoH, HO Teneps oHU miaatart 93,06 7.
nosutapoB. Ha kakoli mpOLEHT YMEHbIIWICS CUeT?
8.
5) {BVAR} spent 25 minutes on his math homework and 31,5 minutes on his spelling
homework. He spent percent more time on his spelling homework. 9.
10.
6) B npouwiom roxy JUIEH3Hs Ha PLIOHYIO JIOBIIIO cToMIa 53. B 5T0M roay nuiensus Oyaer
cTouTh 37,1 mommapoB. ITO yMEHbILICHUE Ha MIPOIIEHTOB.
7) Normally a game costs §32. But the new special edition version is going to be §37,76. This
is an increase of percent.
8) {GVAR} panbuie xuna B 14 xusoMeTpax OT IIKOJIBI, HO MOCIE MIEPEE3/Ia OHA TENEPh
KuBeT B 9,52 kunomerpax ot mkossl. OHa Ha MIPOIICHTOB OJIMXKE K IIKOJIE.
9) {BVAR} used to have §406 in the bank but after a year the amount increased to §479,08.
This was an increase of %.
10) A library normally collected §31 in fees a month. But in March they collected §42,78.
What is the percent increase in the number of fees collected in March?
1-10 {90 [80[70[60[50[40[30[20]10] 0 |
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemure kaxayr 3axauy. OTBeTHI
1) BecHoli cpennuii 6am 1o aucTy aenenus 0bu1 55. Ho ele oceHbro cpeaanii 6amt Ob
HOMB. Orienka 3a oceHb OblIa Ha % HUXKeE, 4EM 3a BECHY. 1. 4
2. 36
2) Tt used to take {GVAR} 8 minutes to do 20 multiplication problems. Now she can do the
same page in 10,88 minutes. She is now percent faster. 3. 38
4. 34
3) Hrpa o6ban0 crouT 57, HO {GVAR} MCIIOIB30Ba KYIOH M IOIYYUI HIPY 3a 35,34,
Kynou 6b11 Ha IIPOLICHTOB. 5. 26
6. 30
4) Cembs {GVAR} pemmia 0TKa3aThCs 0T KaOEIbHOrO TeaeBuaenus. [leppoHadanbHo OHK
wiatunu 141 3a tenesunenue, laTepHeT u tenedoH, HO Teneps oHu wiatat 93,06 7. 18
nosutapoB. Ha kakoi MpOLEHT yMEHbUIWICS CUeT?
8. 32
5) {BVAR} spent 25 minutes on his math homework and 31,5 minutes on his spelling
homework. He spent percent more time on his spelling homework. 9. 18
10, 38
6) B npouwiom roxy JUIEH3Hs Ha PLIOHYIO JIOBIIIO cToMIa 53. B 5T0M roay nuiensus Oyaer
cTouTh 37,1 mommapoB. ITO yMEHbILICHUE Ha MIPOIIEHTOB.
7) Normally a game costs §32. But the new special edition version is going to be §37,76. This
is an increase of percent.
8) {GVAR} panbuie xuna B 14 xusoMeTpax OT IIKOJIBI, HO MOCIE MIEPEE3/Ia OHA TENEPh
KuBeT B 9,52 kunomerpax ot mkossl. OHa Ha MIPOIICHTOB OJIMXKE K IIKOJIE.
9) {BVAR} used to have §406 in the bank but after a year the amount increased to §479,08.
This was an increase of %.
10) A library normally collected §31 in fees a month. But in March they collected §42,78.
What is the percent increase in the number of fees collected in March?
1-10 [90[80[70[60[50[40[30[20]10] 0 |
E\/IaTeMaTHKa www.CommonCoreSheets.ru 4




Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

18 38 44 26 18
36 34 38 32 30 1.

1) Becnoli cpennumit 6amt no aucTy aenenus 0bu1 55. Ho erne oceHbro cpeanii 6amn b

2.
HOMB. Ornenka 3a oceHb Oblia Ha % HMKe, 4eM 3a BECHY.
3.
2) Ttused to take {GVAR} 8 minutes to do 20 multiplication problems. Now she can do the
same page in 10,88 minutes. She is now percent faster. 4.
5.
3) Urpa o6b1uno crout 57, Ho {GVAR} Mcnons30Bai KymoH M IOIY4HI Urpy 3a 35,34,
Kynou 6b11 Ha IIPOLICHTOB. 6.
7.

4) Cewmba {GVAR} pemmia oTKa3arhCs OT KaOEILHOrO TeleBHAEHN. [lepBOHAYAILHO OHU
miatwm 141 3a reneBunenne, UaTepHeT u TenedoH, HO Tenepb oHu mwiaTiaT 93,06 3.
notapoB. Ha kakoil mpoOIeHT YMEHBIIHIICS CUET?

5) {BVAR} spent 25 minutes on his math homework and 31,5 minutes on his spelling

homework. He spent percent more time on his spelling homework. 0

6) B mpomwioM rojy JUIEH3Ms Ha PHIOHYIO JIOBIIO cToMIa 53. B aT0M rojy nuiensus Oyger
cTouTh 37,1 momnapoB. ITO yMEHbILICHUE Ha MPOIICHTOB.

7) Normally a game costs §32. But the new special edition version is going to be §37,76. This
is an increase of percent.

8) {GVAR} paubuie xuna B 14 KxusoMeTpax OT IIKOJIBI, HO MOCIE MIEPEE3/ia OHA TENEPh
KuBeT B 9,52 kunomerpax ot mkoussl. OHa Ha MIPOLICHTOB OJIMXKE K LIKOJIE.

9) {BVAR} used to have §406 in the bank but after a year the amount increased to §479,08.
This was an increase of %.

10) A library normally collected §31 in fees a month. But in March they collected §42,78.
What is the percent increase in the number of fees collected in March?

ye N B P 1-10 {9080 |70[60]|50]|40(30]{20]|10( O
MaTteMaTHKa O0J1er4yeHHbIA BAPHAHT 4 [90[80]70[60]50[40][30[20]10]0 |
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Ch\ N3yyeHne npoLeHTHOrO YBEJIMYCHUS U YMEHbIICHUT  Mwmst:

Pemure kaxayr 3axauy. OTBeTHI
1) {GVAR} panbliie xuia B 15 KHIOMETpax OT IKOJIbI, HO TIOCIIE TIEPEe3/ia OHA TEMePh
uBeT B 13,2 kunomerpax ot mkoussl. OHa Ha MIPOILIEHTOB OJIMXKE K IIKOJIE. L.
2.
2) B npouwom mecsane {BVAR} norparun Ha urpsl 58 nosnapos. B stom Mecsie on
notpatui Bcero § 51,04. B aTom mMecsiiie oH NOTpaTuil Ha MPOIIEHTOB MEHBIIIE. 3.
4.
3) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 16,08 ounces instead. He should advertise the cookies as having 5.
percent more chocolate.
6.
4) {GVAR} xynun komnbrorep 3a § 222,6. {BVAR} kynun oaus 3a 318. Komnbrorep
{GVAR} 6bu1 Ha IIPOLIEHTOB JICIIEBIIE. 7.
8.
5) A store sold 12 dollars worth of gift cards in October. The next month the goal was to sell
§13,92 worth of gift cards. This is an increase of percent. 9.
10.
6) Normally a game costs §35. But the new special edition version is going to be §51,8. This
is an increase of percent.
7) A small fruit smoothie is 13 ounces while a large fruit smoothie is 14,56 ounces. The large
fruit smoothie is % larger.
8) {BVAR} spent 20 minutes on his math homework and 24 minutes on his spelling
homework. He spent percent more time on his spelling homework.
9) A library normally collected §37 in fees a month. But in March they collected §52,54.
What is the percent increase in the number of fees collected in March?
10) B npornwioM rojy JUIEH3Ms Ha phIOHYO 0B cToma 50. B aToM rojy snuiensus Gyger
ctouTh 30 10IapOB. ITO YMEHBIIICHUE Ha MPOLEHTOB.
1-10 {90 [80[70[60[50[40[30[20]10] 0 |
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemure kaxayr 3axauy. OTBeTHI
1) {GVAR} panbliie xuia B 15 KHIOMETpax OT IKOJIbI, HO TIOCIIE TIEPEe3/ia OHA TEMePh
uBeT B 13,2 kunomerpax ot mkoussl. OHa Ha MIPOILIEHTOB OJIMXKE K IIKOJIE. L. 12
2. 12
2) B npouwom mecsane {BVAR} norparun Ha urpsl 58 nosnapos. B stom Mecsie on
notpatui Bcero § 51,04. B aTom mMecsiiie oH NOTpaTuil Ha MPOIIEHTOB MEHBIIIE. 3. 34
4. 30
3) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 16,08 ounces instead. He should advertise the cookies as having 5. 16
percent more chocolate.
6. 48
4) {GVAR} xynun komnbrorep 3a § 222,6. {BVAR} kynun oaus 3a 318. Komnbrorep
{GVAR} 6bu1 Ha IIPOLIEHTOB JICIIEBIIE. 7. 12
8. 20
5) A store sold 12 dollars worth of gift cards in October. The next month the goal was to sell
§13,92 worth of gift cards. This is an increase of percent. 9. 42
10, 40
6) Normally a game costs §35. But the new special edition version is going to be §51,8. This
is an increase of percent.
7) A small fruit smoothie is 13 ounces while a large fruit smoothie is 14,56 ounces. The large
fruit smoothie is % larger.
8) {BVAR} spent 20 minutes on his math homework and 24 minutes on his spelling
homework. He spent percent more time on his spelling homework.
9) A library normally collected §37 in fees a month. But in March they collected §52,54.
What is the percent increase in the number of fees collected in March?
10) B npornwioM rojy JUIEH3Ms Ha phIOHYO 0B cToma 50. B aToM rojy snuiensus Gyger
ctouTh 30 10IapOB. ITO YMEHBIIICHUE Ha MPOLEHTOB.
1-10 [90[80[70[60[50[40[30[20]10] 0 |
E\/IaTeMaTHKa www.CommonCoreSheets.ru 5




Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

40 12 48 42 12
12 20 30 34 16 1.

1) {GVAR} panbuie xu1a B 15 KAIOMETpax OT MIKOJIBI, HO MOCJIE TIEPEE3/]a OHA TENEPD

xuBET B 13,2 kuiomMerpax ot mkosbl. OHa Ha IIPOLIEHTOB OJIMIKE K LIKOJIE. >
3.
2) B npouuiom mecsie {BVAR} norparui Ha urpsl 58 nosutapos. B atom Mecsie on
notpatui Beero § 51,04. B aTtom Mecsiie oH moTpaTui Ha MPOLEHTOB MEHBLIE. 4.
5.

3) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 16,08 ounces instead. He should advertise the cookies as having 6.

percent more chocolate.

7.
4) {GVAR} xynui kommsrotep 3a § 222,6. {BVAR} kynun oqun 3a 318. Kommbrorep
{GVAR} Obu1 Ha MPOIIEHTOB JICIIEBIIE. 3.
9.
5) A store sold 12 dollars worth of gift cards in October. The next month the goal was to sell
§13,92 worth of gift cards. This is an increase of percent. 0

6) Normally a game costs §35. But the new special edition version is going to be §51,8. This
is an increase of percent.

7) A small fruit smoothie is 13 ounces while a large fruit smoothie is 14,56 ounces. The large
fruit smoothie is % larger.

8) {BVAR} spent 20 minutes on his math homework and 24 minutes on his spelling
homework. He spent percent more time on his spelling homework.

9) A library normally collected §37 in fees a month. But in March they collected §52,54.
What is the percent increase in the number of fees collected in March?

10) B mporwioMm rofy JuieH3us Ha prIOHYIO JI0BI0 cTomna 50. B aToMm roxy nunensus Oyaer
ctouTh 30 nomapoB. ITO yMEHBIIEHHUE Ha IIPOLICHTOB.

ye N B P 1-10 {9080 |70[60]|50]|40(30]{20]|10( O
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) {GVAR} panblie xuia B 10 KuioMeTpax OT IKOJIbI, HO TIOCIIE TIEpee3ia OHa TENePh

JKUBET B 7 KHJioMeTpax oT mkosibl. OHa Ha HPOLICHTOB OJIMXKE K ILIKOJIE. L.
2.
2) {BVAR! spent 29 minutes on his math homework and 32,48 minutes on his spelling
homework. He spent percent more time on his spelling homework. 3.
4.
3) B npouuiom roay JMIEH3Us Ha PHIOHYIO JOBIIO cTouna 57. B atoMm roay aunensus Oyaer
crouth 41,04 nomnapoB. DTO yMEHBIIICHUE Ha MPOLIEHTOB. 5.
6.
4) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell
§ 18 worth of gift cards. This is an increase of percent. 7.
8.
S) The price for internet on a phone was §8 a month, but starting in November the price will
be §9,92 a month. This is a % increase. 9.
10.

6) Marasun 06b1YHO HaOupan B cpeaneM 108 mokymnareneii B qeHb. Ho 10 BBIXOIHEIM OHH B
cpenneM Habupanu 75,6 KIMEHTOB B JIeHb. Ha CKOJIbKO MPOIICHTOB YMEHBIIIUIIOCH
KOJIMYECTBO KIIMEHTOB?

7) A small fruit smoothie is 30 ounces while a large fruit smoothie is 34,2 ounces. The large
fruit smoothie is % larger.

8) Becnoii cpennuii Gamn mo nucTy AeneHus obu1 76. Ho elne ocenpro cpeanuii 6asmn Obu
HOMB. Onenka 3a oceHb Oblia Ha % HUXKe, 4YeM 3a BECHY.

9) Normally a game costs §35. But the new special edition version is going to be §40,6. This
is an increase of percent.

10) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 13,44 ounces instead. He should advertise the cookies as having
percent more chocolate.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemure kaxayr 3axauy. OTBeTHI
1) {GVAR} panblie xuia B 10 KuioMeTpax OT IKOJIbI, HO TIOCIIE TIEpee3ia OHa TENePh
JKUBET B 7 KMJIOMETpax OT mKkojbl. OHa Ha HPOLICHTOB OJIMXKE K ILIKOJIE. L. 30
2. 12
2) {BVAR! spent 29 minutes on his math homework and 32,48 minutes on his spelling
homework. He spent percent more time on his spelling homework. 3. 28
4. 20
3) B npouuiom rofy JMIEH3Hs Ha PHIOHYIO JIOBIIIO cToMIa 57. B aTOM rony nuuensus Oyaer
ctouth 41,04 nonnapoB. 3To yMEeHbIIEHHE Ha IIPOLICHTOB. 5. 24
6. 30
4) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell
§18 worth of gift cards. This is an increase of percent. 7. 14
8. 42
S) The price for internet on a phone was §8 a month, but starting in November the price will
be §9,92 a month. This is a % increase. 9. 16
10, 12

6) Marasun 06b1YHO HaOupan B cpeaneM 108 mokymnareneii B qeHb. Ho 10 BBIXOIHEIM OHH B
cpenneM Habupanu 75,6 KIMEHTOB B JIeHb. Ha CKOJIbKO MPOIICHTOB YMEHBIIIUIIOCH
KOJIMYECTBO KIIMEHTOB?

7) A small fruit smoothie is 30 ounces while a large fruit smoothie is 34,2 ounces. The large
fruit smoothie is % larger.

8) Becnoii cpennuii Gamn mo nucTy AeneHus obu1 76. Ho elne ocenpro cpeanuii 6asmn Obu
HOMB. Onenka 3a oceHb Oblia Ha % HUXKe, 4YeM 3a BECHY.

9) Normally a game costs §35. But the new special edition version is going to be §40,6. This
is an increase of percent.

10) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 13,44 ounces instead. He should advertise the cookies as having
percent more chocolate.

M 6 1-10 [90[80[70[60[50[40[30[20]10] 0 |
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

30 12 24 42 30
12 14 28 16 20 1.

1) {GVAR} panbuie xua B 10 KAIOMETpax OT MIKOJIBI, HO MOCJIE TIEPEE3/]a OHA TENEPD

2.
KHUBET B 7 KWJIOMETpax oT mKojibl. OHa Ha NPOIICHTOB OJIMXKE K IIKOJIE.
3.
2) {BVAR} spent 29 minutes on his math homework and 32,48 minutes on his spelling
homework. He spent percent more time on his spelling homework. 4.
5.
3) B npouuiom roay JMIEH3Us Ha PHIOHYIO JOBIIO cTouna 57. B atoMm roay aunensus Oyaer
ctouth 41,04 nomnapoB. DTO yMEHBIIICHUE Ha MIPOLIEHTOB. 6.
7.
4) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell
§18 worth of gift cards. This is an increase of percent. 8.
9.
5) The price for internet on a phone was §8 a month, but starting in November the price will
be §9,92 a month. This is a % increase. 0

6) Marasun 06b1YHO HaOupan B cpeaneM 108 mokymareneii B qeHb. Ho 10 BBIXOIHEIM OHH B
cpenHeM HaOupanu 75,6 KIMEHTOB B JIeHb. Ha CKOJIbKO MPOIICHTOB YMEHBIIIHUIIOCH
KOJHNYECTBO KIUEHTOB?

7) A small fruit smoothie is 30 ounces while a large fruit smoothie is 34,2 ounces. The large
fruit smoothie is % larger.

8) Becnoii cpennuii Gamn mo nucTy Aenenus obu1 76. Ho ele ocenpro cpeanuii 6asn Obu
HOMB. Onenka 3a oceHb Obla Ha % HUXKeE, 4YeM 3a BECHY.

9) Normally a game costs §35. But the new special edition version is going to be §40,6. This
is an increase of percent.

10) Normally a chef uses 12 ounces of chocolate to make chocolate chip cookies. But he
started using 13,44 ounces instead. He should advertise the cookies as having
percent more chocolate.

ye N B P 1-10 {9080 |70[60]|50]|40(30]{20]|10( O
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Ch\ N3yyeHne npoLeHTHOrO YBEJIMYCHUS U YMEHbIICHUT  Mwmst:

Pemure kaxayr 3axauy. OTBeTHI
1) A small fruit smoothie is 30 ounces while a large fruit smoothie is 39 ounces. The large
fruit smoothie is % larger. L.
2.
2) The price for internet on a phone was §5 a month, but starting in November the price will
be §5,9 a month. This is a % increase. 3.
4.
3) BecHnoii cpenuumii 6amn 1o aucTy aeiaenus ool 93. Ho elne ocenbio cpeanuii 6amn ObL
HOMB. O1enka 3a ocedb Obuia Ha % HMKe, 9eM 3a BECHY. 5.
6.
4) At a restaurant the bill came to §56. If you leave §63,84, what percent tip is that?
7.
8.
5) A pole was supposed to be 17 meters long, but it was accidentally made 19,04 meters long.
The pole is percent longer than it needs to be. 9.
10.
6) Marasun 06bIYHO HaOMpan B cpeaHeM 166 mokymnarenei B 1eHb. Ho 10 BBIXOIHBEIM OHH B
cpenneM Habupanu 129,48 kiaueHTOB B IeHB. Ha CKOJIBKO MPOIEHTOB YMEHBIIIMIOCH
KOJIMYECTBO KIIMEHTOB?
7) {BVAR} spent 23 minutes on his math homework and 33,12 minutes on his spelling
homework. He spent percent more time on his spelling homework.
8) Boubiuas rasuposka - 310 228 Kanopui, a ManeHnbkas - 173,28 kanopuii. B HeGobLIoi
ra3upoBKe Ha MPOLIEHTOB MEHBIIIE KATOPHIA.
9) Cembs {GVAR} pemmia oTKa3atbCs OT KabeabHOTo TeleBuaeHus. [lepBoHayaabHO OHU
miatim 131 3a reneBunenne, MHTEpHET M TeneoH, HO Tenepb OHU TIATAT 75,98
noJuiapoB. Ha kakoii mporeHT yMEeHBIIHICS cueT?
10) Normally a game costs §32. But the new special edition version is going to be §47,36. This
is an increase of percent.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemure kaxayr 3axauy. OTBeTHI
1) A small fruit smoothie is 30 ounces while a large fruit smoothie is 39 ounces. The large
fruit smoothie is % larger. L. 30
2. 18
2) The price for internet on a phone was §5 a month, but starting in November the price will
be §5,9 a month. This is a % increase. 3. 24
4. 14
3) BecHoii cpeanuii 6amt o nucty aenenus 6su1 93. Ho emme ocenbro cpenuii 6amn 6bu1
HOMB. O1enka 3a ocedb Obuia Ha % HMKe, 9eM 3a BECHY. 5. 12
6. 22
4) At a restaurant the bill came to §56. If you leave §63,84, what percent tip is that? 44
7.
8. 24
5) A pole was supposed to be 17 meters long, but it was accidentally made 19,04 meters long.
The pole is percent longer than it needs to be. 9. 42
10, 48
6) Marasun 06bIYHO HaOMpan B cpeaHeM 166 mokymnarenei B 1eHb. Ho 10 BBIXOIHBEIM OHH B
cpenneM Habupanu 129,48 kiaueHTOB B IeHB. Ha CKOJIBKO MPOIEHTOB YMEHBIIIMIOCH
KOJIMYECTBO KIIMEHTOB?
7) {BVAR} spent 23 minutes on his math homework and 33,12 minutes on his spelling
homework. He spent percent more time on his spelling homework.
8) Boubiuas rasuposka - 310 228 Kanopui, a ManeHnbkas - 173,28 kanopuii. B HeGobLIoi
ra3upoBKe Ha MPOLIEHTOB MEHBIIIE KATOPHIA.
9) Cembs {GVAR} pemmia oTKa3atbCs OT KabeabHOTo TeleBuaeHus. [lepBoHayaabHO OHU
miatim 131 3a reneBunenne, MHTEpHET M TeneoH, HO Tenepb OHU TIATAT 75,98
noJuiapoB. Ha kakoii mporeHT yMEeHBIIHICS cueT?
10) Normally a game costs §32. But the new special edition version is going to be §47,36. This
is an increase of percent.
1-10 [90[80[70[60[50[40[30[20]10] 0 |
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

24 18 48 14 22
30 42 24 44 12 1.

1) A small fruit smoothie is 30 ounces while a large fruit smoothie is 39 ounces. The large

2.
fruit smoothie is % larger.
3.
2) The price for internet on a phone was §5 a month, but starting in November the price will
be §5,9 a month. This is a % increase. 4.
5.
3) BecHnoii cpenuumii 6amn 1o aucTy aeiaenus 0bu1 93. Ho elne ocenbio cpeanuii 6amt ObL
HOMB. O1enka 3a ocedb Obuia Ha % HMKe, 9eM 3a BECHY. 6.
7.
4) At arestaurant the bill came to §56. If you leave §63,84, what percent tip is that?
8.
9.
5) A pole was supposed to be 17 meters long, but it was accidentally made 19,04 meters long.
The pole is percent longer than it needs to be. 0

6) Marasun 06bIYHO HaOMpPan B cpeaHeM 166 mokymnarenei B qeHb. Ho 110 BBIXOIHBEIM OHH B
cpenneM Habupanu 129,48 kiaueHTOB B AeHB. Ha CKOJIBKO MPOIEHTOB YMEHBIIMIIOCH
KOJHNYECTBO KIUEHTOB?

7) {BVAR} spent 23 minutes on his math homework and 33,12 minutes on his spelling
homework. He spent percent more time on his spelling homework.

8) Boubiuas rasuposka - 310 228 Kanopuii, a ManeHbkas - 173,28 kanopuii. B HeGobuIoi
ra3upoBKe Ha IIPOLIEHTOB MEHBIIE KAJIOPHM.

9) Cembs {GVAR} pemmia 0TKa3aThCs OT KaOEILHOTO TeNeBUieHus. [lepBoHavYaIbHO OHU
wiatwin 131 3a TeneBunenue, aTepHeT u TenedoH, HO Teneps OHU MmIatart 75,98
JosutapoB. Ha kakoi MpOLEHT yMEHBLIWICS CYeT?

10) Normally a game costs §32. But the new special edition version is going to be §47,36. This
is an increase of percent.

ye N B P 1-10 {9080 |70[60]|50]|40(30]{20]|10( O
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) The price for internet on a phone was §5 a month, but starting in November the price will

be §6 a month. This is a % increase. L.
2.
2) {BVAR!} used to have §422 in the bank but after a year the amount increased to §624,56.
This was an increase of %. 3.
4.
3) A pole was supposed to be 12 meters long, but it was accidentally made 14,64 meters long.
The pole is percent longer than it needs to be. 5.
6.

4) B ¢espane {BVAR} norpatun 35 yacos na npocmotp Netflix. B mapre on nposen 3a
npocMoTpoMm Beero 20,3 yacoB. Ha ckobKO MPOLIEHTOB YMEHBIIMIOCH KOJIMYECTBO 7.
BPEMEHHU, KOTOPOE OH MPOBOANI 33 IPOCMOTPOM?

5) Cembs {GVAR} pemmia oTka3aThCst OT KaOEIBHOTO TeNeBUIcH . [[epBOHAYAIBHO OHU
wiatwin 72 3a teneBuaeHue, MIHTepHeT u tenedoH, HO Tenepb OHM IIaTAT 57,6 nomiapos. || 9-
Ha xaxoii NpoleHT yMEeHbIIUICS CUeT?

10.
6) Mrpa oObruno crout 60, Ho {GVAR} HCIons30Ball KYIOH U OAy4u urpy 3a 34,8. Kynon
ObLI HA MIPOIICHTOB.
7) In February {GVAR} got a puppy that weighed 15 kilograms. By October the puppy
weighed 16,8 kilograms. What was the percent the puppy's weight increased?
8) Normally a chef uses 13 ounces of chocolate to make chocolate chip cookies. But he
started using 16,38 ounces instead. He should advertise the cookies as having
percent more chocolate.
9) B mpomwioM rojy JUIEH3Ms Ha PIOHYIO JIOBIIO cToMIa 57. B 9T0M rojy nuieHsus Oyaer
cTOuTh 36,48 noytapoB. DTO YMEHBIIIEHUE HA MPOIIEHTOB.
10) A store sold 14 dollars worth of gift cards in October. The next month the goal was to sell
§17,08 worth of gift cards. This is an increase of percent.
1-10 {90 [80[70[60[50[40[30[20]10] 0 |
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemure kaxayr 3axauy. OTBeTHI
1) The price for internet on a phone was §5 a month, but starting in November the price will
be §6 a month. This is a % increase. L. 20
2. 48
2) {BVAR!} used to have §422 in the bank but after a year the amount increased to §624,56.
This was an increase of %. 3. 22
4. 42
3) A pole was supposed to be 12 meters long, but it was accidentally made 14,64 meters long.
The pole is percent longer than it needs to be. 5. 20
6. 42

4) B ¢espane {BVAR} norpatun 35 yacos na npocmotp Netflix. B mapre on nposen 3a
npocMoTpoMm Beero 20,3 yacoB. Ha ckobKO MPOLIEHTOB YMEHBIIMIOCH KOJIMYECTBO 7. 12
BPEMEHHU, KOTOPOE OH MPOBOANI 33 IPOCMOTPOM?

8. 26

5) Cembs {GVAR} pemmia oTka3aThCst OT KaOEIBHOTO TeNeBUIcH . [[epBOHAYAIBHO OHU
wiatwin 72 3a teneBuaeHue, MIHTepHeT u tenedoH, HO Tenepb OHM IIaTAT 57,6 nomiapos. || 9- 36
Ha xaxoii NpoleHT yMEeHbIIUICS CUeT?

10, 22
6) Mrpa oObruno crout 60, Ho {GVAR} HCIons30Ball KYIOH U OAy4u urpy 3a 34,8. Kynon
ObLI HA MPOIICHTOB.
7) In February {GVAR} got a puppy that weighed 15 kilograms. By October the puppy
weighed 16,8 kilograms. What was the percent the puppy's weight increased?
8) Normally a chef uses 13 ounces of chocolate to make chocolate chip cookies. But he
started using 16,38 ounces instead. He should advertise the cookies as having
percent more chocolate.
9) B mpomwioM rojy JUIEH3Ms Ha PIOHYIO JIOBIIO cToMIa 57. B 9T0M rojy nuieHsus Oyaer
cTOuTh 36,48 noytapoB. DTO YMEHBIIIEHUE HA MPOIIEHTOB.
10) A store sold 14 dollars worth of gift cards in October. The next month the goal was to sell
§17,08 worth of gift cards. This is an increase of percent.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

26 12 42 20 36
22 22 42 20 48 1.

1) The price for internet on a phone was §5 a month, but starting in November the price will

2.
be §6 a month. This is a % increase.
3.
2) {BVAR} used to have §422 in the bank but after a year the amount increased to §624,56.
This was an increase of %. 4.
5.
3) A pole was supposed to be 12 meters long, but it was accidentally made 14,64 meters long.
The pole is percent longer than it needs to be. 6.
7.

4) B despane {BVAR} norparui 35 yacos Ha npocmotp Netflix. B mapre on mposen 3a
npocMoTpoMm Beero 20,3 yacos. Ha CKOJIBEKO MPOIIEHTOB YMEHBUIMIIOCH KOJINYECTBO 3.
BPEMEHH, KOTOPOE OH ITPOBOIMUII 3a IPOCMOTPOM?

5) Cempa {GVAR} pemmia 0TKa3aTbcs OT KaOEILHOTO TeleBHAeH . [lepBOHaYaIbHO OHU
maTwM 72 3a TeneBuaceHue, aTepHeT 1 TenedoH, HO Teneph OHM IUIATAT 57,6 10/U1apoB.

. 10.
Ha xakoil npo1eHT yMEHBbIIWIICS CUET?

6) Mrpa oObruno crout 60, Ho {GVAR} HCIONL30BaIl KYIOH U ITOAy4mI urpy 3a 34,8. Kynon
ObLT Ha MPOIIEHTOB.

7) In February {GVAR} got a puppy that weighed 15 kilograms. By October the puppy
weighed 16,8 kilograms. What was the percent the puppy's weight increased?

8) Normally a chef uses 13 ounces of chocolate to make chocolate chip cookies. But he
started using 16,38 ounces instead. He should advertise the cookies as having
percent more chocolate.

9) B npouuioM rojy JMIEH3MsA HAa PHIOHYIO JIOBJIIO cTOMIA 57. B 3TOM rojy Jiuiensus Oyaer
cTouTh 36,48 nonnapoB. ITO yMEHBILIEHUE Ha IIPOLICHTOB.

10) A store sold 14 dollars worth of gift cards in October. The next month the goal was to sell
§17,08 worth of gift cards. This is an increase of percent.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) A pole was supposed to be 20 meters long, but it was accidentally made 26,8 meters long.

The pole is percent longer than it needs to be. L.
2.
2) A store sold 13 dollars worth of gift cards in October. The next month the goal was to sell
§16,38 worth of gift cards. This is an increase of percent. 3.
4.
3) {BVAR} used to have §430 in the bank but after a year the amount increased to §498,8.
This was an increase of %. 5.
6.
4) Hrpa o6b1uno crout 51, Ho {GVAR} MCIIOIB30Ba KYIIOH M TIOIYYUII HIPY 3a 33,66.
Kymnon 0b11 Ha MPOIICHTOB. 7.
8.
S) The price for internet on a phone was §10 a month, but starting in November the price will
be §14,6 a month. This is a % increase. 9.
10.

6) BecHnoii cpequuii 6as 1o nucty aenenus oui1 85. Ho emme ocenpo cpeauii 6amn Obut
HOMB. Or1ienka 3a oceHb ObLIa Ha % HIKE, 4EM 3a BECHY.

7) At arestaurant the bill came to §78. If you leave §113,88, what percent tip is that?

8) Cempba {GVAR} pemmia oTKa3arbes OT KabeIbHOIO TeleBHAeH s . [IepBOHAYaIbHO OHU
wiatwin 87 3a teneBuaeHue, Miurepuet u tenedoH, HO Ternepb OHM IIaTAT 67,86
nosutapoB. Ha kakoli IpOLEHT yMEHbIIWICS CUeT?

9) A library normally collected §37 in fees a month. But in March they collected §42,18.
What is the percent increase in the number of fees collected in March?

10) B nponwiom mecsiie {BVAR} notpatuin Ha urpbl 59 nouiapos. B atom Mecsiie on
notpatui Beero § 38,94. B aTom Mecsiie OH NOTpaTuiI Ha MPOIEHTOB MEHBIIIE.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) A pole was supposed to be 20 meters long, but it was accidentally made 26,8 meters long.
The pole is percent longer than it needs to be. L. 34
2. 26
2) A store sold 13 dollars worth of gift cards in October. The next month the goal was to sell
§16,38 worth of gift cards. This is an increase of percent. 3. 16
4. 34
3) {BVAR} used to have §430 in the bank but after a year the amount increased to §498,8.
This was an increase of %. 5. 46
6. 12
4) Hrpa o6b1uno crout 51, Ho {GVAR} MCIIOIB30Ba KYIIOH M TIOIYYUII HIPY 3a 33,66.
Kymnon 0b11 Ha IIPOLIEHTOB. 7. 46
8. 22
S) The price for internet on a phone was §10 a month, but starting in November the price will
be §14,6 a month. This is a % increase. 9. 14
10, 34

6) BecHnoii cpequuii 6as 1o nucty aenenus oui1 85. Ho emme ocenpo cpeauii 6amn Obut
HOMB. Or1ienka 3a oceHb ObLIa Ha % HIKE, 4EM 3a BECHY.

7) At arestaurant the bill came to §78. If you leave §113,88, what percent tip is that?

8) Cembs {GVAR} pemmsia oTka3aThCs OT KaOEILHOTO TeseBUieHus. [IepBoHavYaIbHO OHU
wiatwin 87 3a teneBuaeHue, MIHTepHeT u TenedoH, HO Tenepb OHM IIatAT 67,86
nosutapoB. Ha kakoi MpOLEHT yMEHbUIWICS CUeT?

9) A library normally collected §37 in fees a month. But in March they collected §42,18.
What is the percent increase in the number of fees collected in March?

10) B nponwiom mecsiie {BVAR} notpatuin Ha urpbl 59 nouiapos. B atom Mecsiie on
notpatui Beero § 38,94. B aTom Mecsiie OH NOTpaTuiI Ha MPOIEHTOB MEHBIIIE.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

16 14 22 34 12
26 34 34 46 46 1.

1) A pole was supposed to be 20 meters long, but it was accidentally made 26,8 meters long.

2.
The pole is percent longer than it needs to be.
3.
2) A store sold 13 dollars worth of gift cards in October. The next month the goal was to sell
§16,38 worth of gift cards. This is an increase of percent. 4.
5.
3) {BVAR} used to have §430 in the bank but after a year the amount increased to §498,8.
This was an increase of %. 6.
7.
4) Urpa o6b1uno0 crout 51, Ho {GVAR} Mcnons30Bai KymoH M IOIYYHI Urpy 3a 33,66.
Kynon 6b11 Ha IIPOLIEHTOB. 8.
9.
5) The price for internet on a phone was §10 a month, but starting in November the price will
be §14,6 a month. This is a % increase. 0

6) BecHnoii cpequuii 6as o nucty aenenus o1 85. Ho eme oceHpo cpeqauil 6amn Obit
HOMB. O1ienka 3a ocedb Oblia Ha % HIXeE, 4eM 3a BECHY.

7) At a restaurant the bill came to §78. If you leave §113,88, what percent tip is that?

8) Cembs {GVAR} pemmia oTka3aTbes OT KabeIbHOro TeseBuieHus. [lepBoHadyaiIbHO OHU
wiatwin 87 3a teneBuaeHue, MIHTepHeT u TenedoH, HO Tenepb OHM IIatAT 67,86
JosutapoB. Ha kakoi MpOLEHT yMEHbUIWICS CYeT?

9) A library normally collected §37 in fees a month. But in March they collected §42,18.
What is the percent increase in the number of fees collected in March?

10) B mporwiom mecsiiie {BVAR} motpatun Ha urpbl 59 gosiapos. B atom mecsiie o
notpatui Beero § 38,94. B aToM Mecsliie OH moTpaTui Ha MIPOLIEHTOB MEHBLIE.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

1) Cembs {GVAR} pemmiia 0TKa3atbes OT KabeJIbHOTO TeeBHAeHUs. [lepBOHAYAIBLHO OHI
wiatwin 148 3a TeneBunenue, iaTepHeT u TenedoH, HO Teneps OHU MIaTIT 88,8 L.
JosuapoB. Ha kakoi MpOLEHT yMEHBUIWICS CUET?

2) A library normally collected §34 in fees a month. But in March they collected §38,08.
What is the percent increase in the number of fees collected in March? 3.

3) B mpouuorosneii Mmoesnu tenedona Oblia Gartapes, KOTOpoi XBartajo Ha 15 yacos. B
3TOM roAy 3apsa OaTapen XBaTUT Bcero Ha 8,4 yacoB. Ha kakoil mpoIeHT yMEeHbIIIOCh 5.
BpEeMsl aBTOHOMHOW paboThI?

4) Marasun 06bIYHO HabMpan B cpeadeM 127 nokymnarenei B 1eHb. Ho 10 BEIXOIHBIM OHHU B
cpeaneM HaOupanu 73,66 KINEHTOB B JieHb. Ha CKOJIBKO MPOIEHTOB YMEHBIIMIOCH 7.
KOJIMYECTBO KJIMEHTOB?

5) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell
§21,6 worth of gift cards. This is an increase of percent. 9.

10.

6) Mrpa oObruno cTout 57, Ho {GVAR} HCIONB30BaIl KYIOH U IIOJIYYUII UIPy 3a 36,48.
Kyrmon 6w11 Ha MIPOIICHTOB.

7) {BVAR} spent 23 minutes on his math homework and 32,2 minutes on his spelling
homework. He spent percent more time on his spelling homework.

8) The price for internet on a phone was §9 a month, but starting in November the price will
be §13,5 a month. This is a % increase.

9) Normally a game costs §37. But the new special edition version is going to be §53,28. This
is an increase of percent.

10) {GVAR} xynui kommsrotep 3a § 149,64. {BVAR} kynun oqun 3a 258. KoMmbrorep
{GVAR} Obu1 Ha MPOIIEHTOB JICIIEBIIE.
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ﬂh I/I3yquI/Ie IMPOLCHTHOT'O YBCIIMYCHNA 1 YMCHBIICHU Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Pemure kaxayr 3axauy. OTBeTHI
1) Cembs {GVAR} pemmiia 0TKa3atbes OT KabeJIbHOTO TeeBHAeHUs. [lepBOHAYAIBLHO OHI
wiatwin 148 3a TeneBunenue, iaTepHeT u TenedoH, HO Teneps OHU MIaTIT 88,8 L. 40
nosutapoB. Ha kakoil mpoueHT yMeHbImics cuer?
2. 12
2) A library normally collected §34 in fees a month. But in March they collected §38,08.
What is the percent increase in the number of fees collected in March? 3. 44
4. 42
3) B npouworoanei moaenu tenedona Oblia Gatapes, KOTOpOM xBartajo Ha 15 yacos. B
3TOM ToJly 3apsija O0aTtapeu XBaTHT Bcero Ha 8,4 yacoB. Ha kakoii MpoLeHT YMEHbIINIOCH 5. 44
BpEeMsl aBTOHOMHOW paboThI?
6. 36
4) Marasun 06bIYHO HabMpan B cpeadeM 127 nokymnarenei B 1eHb. Ho 10 BEIXOIHBIM OHHU B
cpeaneM HaOupanu 73,66 KINEHTOB B JieHb. Ha CKOJIBKO MPOIEHTOB YMEHBIIMIOCH 7. 40
KOJIMYECTBO KJIIMEHTOB?
8. 50
5) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell
§21,6 worth of gift cards. This is an increase of percent. 9. 44
10, 42
6) Mrpa oObruno cTout 57, Ho {GVAR} HCIONB30BaIl KYIOH U IIOJIYYUII UIPy 3a 36,48.
Kyrmon 6w11 Ha MIPOIICHTOB.
7) {BVAR} spent 23 minutes on his math homework and 32,2 minutes on his spelling
homework. He spent percent more time on his spelling homework.
8) The price for internet on a phone was §9 a month, but starting in November the price will
be §13,5 a month. This is a % increase.
9) Normally a game costs §37. But the new special edition version is going to be §53,28. This
is an increase of percent.
10) {GVAR} xynui kommsrotep 3a § 149,64. {BVAR} kynun oqun 3a 258. KoMmbrorep
{GVAR} Obu1 Ha MPOIIEHTOB JICIIEBIIE.
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Ch\ N3ydenue nponeHTHOrO YBEJIMYEHUS U YMEHBIICHUS Nwms:
Pemure kaxayr 3axauy. OTBeTHI

44 36 40 12 50
40 42 44 44 42 1.

1) Cembs {GVAR} pemmna 0TKa3aThCs OT KaOENIBLHOrO TENeBUACHNUS. [lepBOHaYaIbLHO OHH

2.
wiatwin 148 3a TeneBunenue, aTepHeT u TenedoH, HO Teneps OHU MIaTIT 88,8
nosapoB. Ha kakoi mpOLIEHT YMEHBIIUJICS CUeT?
3.
2) A library normally collected §34 in fees a month. But in March they collected §38,08.
What is the percent increase in the number of fees collected in March? 4.
5.

3) B mpouuiorosneii Mmoesnu tenedona Oblia Garapes, KOTOpoi XBarajo Ha 15 yacos. B
9TOM roAy 3apsa OaTapen XBaTUT Bcero Ha 8,4 yacoB. Ha kakoil mpoIeHT yMeHbIIIOCH 6.
BpEMsI aBTOHOMHOU paboThI?

4) Marasun 06sIYHO HaGHpai B cpeaHeM 127 mokymnarenei B ieHb. Ho 1o BHIXOJHBIM OHU B
cpenneM Habupanu 73,66 KIMEHTOB B JieHb. Ha CKOJIBKO TPOIIEHTOB YMEHBIITUIOCH 3.
KOJIMYECTBO KIIMEHTOB?

5) A store sold 15 dollars worth of gift cards in October. The next month the goal was to sell

§21,6 worth of gift cards. This is an increase of percent. 0

6) Mrpa o6bruno cTout 57, HoO {GVAR} HCIIONB30Ball KYIOH U IIOIYYMII UIPY 3a 36,48.
Kynon Ob11 Ha MPOLIEHTOB.

7) {BVAR} spent 23 minutes on his math homework and 32,2 minutes on his spelling
homework. He spent percent more time on his spelling homework.

8) The price for internet on a phone was §9 a month, but starting in November the price will
be §13,5 a month. This is a % increase.

9) Normally a game costs §37. But the new special edition version is going to be §53,28. This
is an increase of percent.

10) {GVAR} kynui kommbioTep 3a § 149,64. {BVAR} xymmn oqun 3a 258. Kommbrorep
{GVAR} 6bu1 Ha IIPOLIEHTOB JICIIEBIIE.
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